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24 (for a) & 6 (for b)
12 (for a) & 35 (for b)
15 (for a) & 20 (for b)
4 (for a) & 21 (for b)
15 (for a) & 4 (for b)
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.16
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L 22+19=41

. 185+ 165 =350
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43.
. 60-47=13

. 23x4 =92

. 3x33=99

. 120x1.5 + 100x0.50 = 180 + 50
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21-4 =17

= $230

. 2x4 +4x6 =8 + 24

=32 ft

. 57 + 3x5 = 72 pounds
. 60+20=3%3

. 450 + 9 = 50 dozen

. 45><§ =9

45+9=54in

) §><4><12:16

24 - 4x3 =12
12+4 =3

3x3 + 4x4 = 25
25-24=$1.00

. 60+4 =15
. 100 +2 =50

50 - 20 = 30 in (length)

. The area = widthx length = 20x30 = 600 in?
. 20x30 - 10x14 =600 - 140

= 460 in?

. 2x(20+30) + 2(20 - 6) = 100 + 28

=128 in

. 60+ 12 = 5 (width)

2x(12+5) = 34 ft (perimeter)

. ab7

a=3,4,56,7,8,9
b=0,1,234,567,8,9

7x10 = [70)

. D

. B,6,9,[12,15, 18, ]21, 24, 27]

Ans = 24

A+B=1+3=}

113 | 2

2 | A
1 | B

. 31-25+1=7

3-1=2

7+2=[
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66. D will sell 5.

67.
68.

A will sell 3.

M will sell 8.

101 — (5 + 3 + 8) = 85 different figures.
85+5=17

D= 34

M= 34

A=17

16+1=1

220 — 160 = 60 (cushion width)
220 - 3x60 = 40

40+2 = 20 cm (arm rest width)
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$10 $5
1
1 3
0 5
9.
3+9=

70. 3+1+4+1=[

1]
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[1]1]x
3

2) left

3) above

b

1) front
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